BASIC POLYNOMIALS

Write the expansion of the following.

1 (x+5){x+1) 2 (x-2}(x-3) 3 (a-3¥a+4)
= x*+x+5x+5 = x2-3x-2x t6 =0*t4a -3a 12
- x>+ 6x+5 = x* -5x +6 —art+oa 12
4 (x-2) 5 (y+7) 6 (2x+3)(x+5)
= K- 4tk =51+|4J+4? = 2x*+ 0z 8z t 15
=2x*+ Bx +15
7 (3x—4)(x—2) 8 Bm+7)2m-1) 9 (3x+2)(3x+2)
=3xr-6bx -bz +8 —EME -2+ lbm -F = Ax*+6x +6x T4
= 3x*- 10 t8 =6m*+Illm -1 = qa* +12x +4
10 (2p-9(2p+9) 11 Bx+2)(2x+3) 12 (4p -5)°
= hp>+18p-18p-dl  =6x*+9xthx+( =Ilp*—40p+25
= pr’x.S) =6*+(3x +6
19 (X +5)(x* - 2x ~ 3) 20 (x—-2)(x+2)(x+2) 21 (P -y ) ;
2.2
:2(,4—22?3“32:1 = [I.Z—(I-)('X-'{'Z) :(xz__gz) {Z, —ng +J )
+ 5310 =15 _aripar (-8 - x5—21"5’-+xy4'—g’xf’
s X,L'-—sz’+21,z -,—-2_){_2-(3"__ .
— e A5 = +5:rf(j‘f ~5Il‘(jz—g

22 The correct expansion of (\/; +J; )2 is:
A FLiuy+y B x+y+2xy @x+y+2\[x7 D x2+y2+2,/;c;

(ﬁ+@)2:x+2ﬁg+gzx+zlg+g MJ:@:JZB_

23 Indicate whether each_answer is a correct or incorrect factorisation of x* — 4xy + 4y”.
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